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ARO_(Agronomy)_9th_Feb_2016

Sn Question Option 1 Option 2 Option 3 Option 4
Name the agroclimatic zone of Rajasthan where "Queen of |Flood prone eastern Plain  |Humid southern Plain (IV |Humid South eastern Irrigated north western
1 cereals" is extensively grown in rabi season :- (11 b) b) Plain (V) plain (1 b)
2 Hindi name of "Brassica Juncea " is :- Raya Toria Kali Sarson Peeli Sarson
Rock phosphate deposits are abundantly found in ___
3 district of Rajasthan :- Nagaur Bikaner Barmer Udaipur
In which of the following agro-climatic zones of India, Upper gangetic plain Middle gangetic plain
4 Punjab and Haryana falls ? Transgangetic Plain region [region region Lower gangetic plain region
5 World Soil day is celebrated every year on :- 5th December 12th December 26th December 30th December
Weather element that is not correctly matched with its Atmospheric pressure -
6 measuring unit :- Temperature - °C Relative humidity - % Cloud cover - Hours Millibars
The base temperature of maize for calculating growing
7 degree days is :- 10 °C 4.5 °C 8°C 12 °C
Headquaters of World Meteorogical Organization is located
8 at :- Geneva Paris Washington Rome
What will be the gross irrigation requirement of a field
having net irrigation requirement 400 mm and field
9 irrigation efficiency 80% ? 300 mm 400 mm 500 mm 700 mm
As per CSSRI, Karnal, Classification of irrigation water boron
10 content of normal water should be :- Less than 3 ppm 3to 4 ppm 4105 ppm 5to 10 ppm
The commonly used pan coefficent value in
11 evapotranspiration study is :- 0.7 1.7 2.7 3.7
The ratio between the irrigated area and volume of water
12 applied is known as :- Delta of Water Duty of Water Base of Water Water course
If a crop is to be irrigated at 0.6 IW/CPE ratio with 6 cm
13 depth, it should be given at CPE value of :- 10 mm 60 mm 600 mm 100 mm
14 One hectare meter is equal to :- 100 m* water 1,000 m® water 10,000 m* water 100,000 m3 water
Among different soil textural classes, which is an ideal one
15 for most of the crops ? Sandy Clayey Loamy Silty
16 Nitrogen content of Sulphur coated urea ranges between :- |26% - 28% 36% - 37% 40% - 42% 46% - 48%
Nutrient element acts as "energy currency" within plants is
17 - calcium Potassium Phosphorus Nitrogen
Nutrient deficiency responsible for heart rot in sugarbeet is
8 |- \WANALLY Tineiaertem | | (CIN/]] i Boron
19 Sea weed "a marine algae" is used as "- Herbicide Fertilizer Insecticide Fungicide
20 Orobanche a parasitic weed is classified as :- Holo stem parasitic weed Hemi root parasitic weed |Holo root parasitic weed |Hemi stem parasitic weed
Quantity of Solaro 50 WP for 2 hectares maize to supply
21 atrazine at 0.75 kg/ha :- 0.5 Kg 3.0Kg 1.5Kg 0.75 Kg
Which one among the following weeds is a board leaved
22 monocotyledon ? Avena fatua Phalaris minor Spergulla arvensis Commelina spp.
"Brown manuring" a recent approach towards weed control
23 is practiced is :- Maize Direct seeded rice Mustard Pigeonpea
What will be the weed control efficiency (%) if weed dry
matter in weety check is 30 quintals and is treated plot it is
24 15 quintals/ha ? 15 30 45 50
If a soil has bulk density 1.5 Mg/m? and particle density 2.5
25 Mg/m?3, what will be the percent porosity of soil ? 30% 40% 50% 60%
In which district, Indian Institute of Farming Systems
26 Research (IIFSR) is situated :- Jhansi Meerut Ghaziabad Sholapur
Which among the following indicators is used to assess the
27 inter cropping system ? Leaf area index Light use efficiency Land equivalent ratio Sustainability index
28 The unit of relative growth rate (RGR) of any crop is :- g/m? (leaf area)/ day g/g /day g/m?(land area)/ day g /day
29 A rapid growing phase of plant is termed as :- Lag Phase Senescence Plateau Phase Log phase
For correcting "top For correcting yellowing in
For good crop growth - sickness" of tabacco - For quality produce - groudnut - apply Zn
30 select incorrect match from the following :- apply N Fertilizer apply B Fertilizer apply K Fartilizer Fertilizer
Which one of the following crops is more tolerant to
31 Sodicity ? Sorghum Groundnut Rice Mustard
32 Soybean is originated from which country ? China India Brazil Mexico
Select the correct combination of a crop variety and its French bean (Udai) -
33 1000 grain weight :- Wheat (HI 8498) - 35 g Gram (KAK-2)-380¢g 500 g Groundnut (TAG -24) - 250 g
What quality of sulphuric acid is required to spray 1000
34 liters of water in one hectare to control frost in rabi crops ? (100 ml 500 ml 1000 ml 1500 ml
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The optimum temerature range for ideal germination of

35 Wheat seed is :- 5-10 °C 10-15 °C 20-25°C 30-35°C
Which one among the following crops is known as "Queen
36 of oilseeds" ? Soybean Mustard Sunflower Sesame
For good quality tabacco, chloride content in leaves should
37 never exceed :- 2% 3% 4% 5%
For delinting 10 Kg fuzzy cottonseed, industrial grade
38 sulphurid acid required is :- 500 ml 1000 ml 1500 ml 2000 ml
39 Red rot is an important disease of this crop :- Potato Sugarbeet Sugarcane Maize
The oil of _____ crop is extensively used in paints and
40 varnish industry :- Sesame Safflower Ratanjot Linseed
Quantity of seed required for one hectare area of a crop, if
plant population per hectare is 50,000, test weight 200 g
41 and real value of seed is 100 per cent :- 10 Kg 20 Kg 30 Kg 40 Kg
(Mean/Standard Deviation) |(Standard Standard
42 The coefficient of variation (CV%) is calculated by formula :- [X 100 Deviation/Mean) X 100 Deviation/Mean Mean/Standard Deviation
43 Size of mini watershed varies between :- 10,000 - 50,000 hectares 1000 - 10,000 hectares 100 - 1000 hectares 10 - 100 hectares
44 Fumigation of rat burrows in the field is done by :- Zinc Phosphide Aluminium Phosphide Zinc Sulphate Zinc Phosphate
45 Jakham dam is situated in which district of Rajasthan :- Jaipur Tonk Dausa Pratapgarh
Agriculture is not merely growing crop but more of applied
46 - Ecosystem Environment Ecology Climate
We are growing wheat in plains in winter and high hills in
47 summer due to :- Height Temperature Scenic beauty Crop rotation
48 Rainfall in hills is more towards :- Windward side Leeward side Both Side Either Side
49 Soils in foot hills are :- Matured Immatured Fully mature None of these
50 Well drained volcanic soils are :- More fertile Less fertile Non fertile Useless
Threshold temperature refers to the point at which a
51 stimulus begins to :- No response Partial response Full response bring a response
52 In slopy lands most suitable irrigation method is :- Drip Check basin Sprinkler Surface flood
To control water To control soil erosion and
53 Objective of zero tillage is :- To control soil run off To check water run off percolation allow aggregation
Long term (more than 30
Diurnal changes in weather [Weekly changesin Monthly changes in years) changes in weather
54 Climate change means :- parameters weather parameters weather parameters parameters
55 Green house effectisrelatedto:- VA /NANAL [ 1] Ricetin temperatufe | /1] Rigedniriindall |~ | 20 | C|Rigein/pierifithtion Rainfall delay
56 Role of abscisic acid in plants is :- increase inmgrowth Growth retardation Celielorigation More branching
Retardation of vegetative
57 Application of cycocel leads to :- growth Retardation of fruiting Retardation of flowering [Check rooting
58 Relative growth rate of plants is :- More yield with time Yield with time More growth with time [Growth with per unit time.
59 Highest density of water is at the temperature of ___ °C 0.0 2.0 4.0 8.0
60 The temperature range of stratosphere is :- -10to-19°C -45 to -75 °C -60 to -85 °C -80to -95 °C
C, plants saturate light upto 40,000 to 50,000 Lux while C,
61 plants :- 50,000-60,000 60,000-70,000 70,000-80,000 90,000-100,000
Fresh water bodies including rivers and streams are known
62 as :- Lentic Lacustrine Lotic or riverine Palustrine
63 The pungency and odour in onion is due to :- Nitrogen Phosphorus Potassium Sulphur
According to the essentiality criteria of nutrients which one |Plant can not complete life [Plant can complete life
64 is correct (without it) :- cycle cycle Plant can not grow Plant can grow very well
Azotobactor & Azospirillum
65 Free living N-fixers are :- Rhizobia Azotobactor Azospirillum Both
Phosphorus availability in soil increases with increase in pH
66 - >8.0 >8.2 >8.4 >8.5
67 P fixation in acid soil starts below the pH :- 7.0 7.5 6.5 3.5
Moisture meter &
68 Soil moisture could be measured by :- Picnometer Moisture meter Gravimetry method Gravimetry method Both
Micro nutriant use efficiancey is more when these are
69 applied :- Through sprinkler Foliar spray Soil application Through drip irrigation
70 Largest area under micro irrigartion is in the state of :- Bihar U.P. Rajasthan Kerala
71 Most salinity tolerant crop among the seed spices is :- Coriander Cumin Fennel Fenugreek
72 Saline soils could be improved by :- Leaching Gypsum application Pyrite application Sulphur application
73 Example of narrow leaf weed is :- Amaranthus Argemone Phalaris Chenopodium
74 Viability of weed seed like lotus remains for :- 10 Years 100 Years 1000 Years None of these
75 Which one is not a systemic herbicide :- Atrazine Simazine Propanil Paraquat
76 Which is not a phenoxy group of herbicide ? 2,4-D 2,4-DB MCPA 2,3,6 TBA




Before germination of

After germination of

77 Post-emergence herbicide is used :- Before germination of crop |weed crop After germination weed
Application of 2,4-D Na Salt may be avoided in the
78 following type of soil to reduce leaching loss :- Sandy Sandy clay loam Clay loam Clayey
Which cropping system accommodate maximum crops in a Mixed cropping & Inter
79 piece of land within specified time :- Mixed cropping Relay cropping cropping Inter cropping
Dryfarming means cultivation of crops where rainfall is less
80 than :- 550 mm 650 mm 750 mm 850 mm
Under moisture stress in plant, concentration of
81 photosynthetic assimilates :- Decreases Increases Remains constant As usual
Matures within the rainfall
82 Escaping drought by the crops means :- period Germinate early Matures late Matures after rain
Under drought conditions, in awned varieties, awns
83 contribute photosynthates about :- 12% 10% 20% 50%
84 Water infiltration in soil means :- Water movement in soil Water enters in soil Percolation Leaching
85 Pratap (C-50) is the variety of crop :- Wheat Sesamum Dill Maize
86 Most adaptive crop under moisture limited condition is :- Rice Maize Wheat Sesamum
When field varies in fertility which experimental design is
87 appropriate ? CRD RBD Split plot Paired row
For the multi factor study which experimental design is
88 more appropriate ? BRD RBD CRD Split Plot
Dependency of one factor on other could be calculated by
89 appropriate method :- Student T test Mean Correlation Harmonic Mean
90 India is divided in how many Agroecosubregions :- 20 30 50 60
Based on the recent estimates, Bikaner and Jaisalmer are
91 delineated in the Agroclimatic Zone of :- 1A 1A I1C 11C
92 Delta in irrigation is measured in which unit ? cm Hours Cusec Liter/Second/ha.
Study of desert and dry land management is studied under
93 - Ecology Dry land farming Xerophic Science Eremology
94 Threshold wind velocity for chemical spray in field crops is :- |[< 1 km/h <2km/h <3 km/h <4km/h
95 Mallika is variety of which crop ? Khejari Babool Groundnut Black gram
[ (Weed dry matter [ (Weed dry matter
prbdulttior in treated production in treated plot -
plot - weed dry matter |weed dry matter
[ (crop yield of weed free [ (crop yield of weed free |production in weed production in weed free
plot - crop yield of treated |plot - crop yield of treated |free plot) / (Weed dry |plot) / (weed dry matter
plot) / (Crop yield of weed |plot) / (crop yield of matter production in production in weed free
96 Weed index is calculated as :- free plot ) ] X 100 treated plot) ] X 100 treated plot) ] X 100 plot) ] X 100
All India severe drought year is declared when spatial
97 coverage of drought is more than :- 20% 40% 60% 80%
98 Celiec disease in human being is caused by :- Gluten allergy Tryptophane Allergy Lycine Allergy Zein Allergy
99 Which type of corn comes under primitive type ? Flint corn Sweet corn Pod corn Waxy corn
Which type of N fertilizers should be avoided in paddy crop
100 ? Nitrate Ammonical Amide Cynamide
Sn Question Option 1 Option 2 Option 3 Option 4
T & TEF STolarg WS I AW gl Uy
T T [T I F AT F I9F & a1g wwre qdff Aeret (1 et qd@f Ager  |RfRd sae-aResd dAee
1 3T ST & - E)) ImgeEolt dereT (v |(v) (19)
2 |3 sttear w1 Rl A4 § - Rkl = FTell w4l el axEt
TSTESTT & ST 7 AF Brevhe faT sgardm
3 F o - > ik SR RIEGES 3EAR
AR & ot & @ g T8 Stoarg @s & dged I T AET Helel
4 3T g g § 2 IET IR A= 8T I T IR Hel & (8T I T e HereT a7
5 gfa ay¥ faea Fer aw #F=ia § - 5 RGHFsR Hl 12 e & 26 feTFaT &1 30 feTeew &t
AGH #T 9g HTIT off [ 3% AT $HT Fhls
6 |gniRa «@E Bedar ¥ - aueH - ° W HIUET 3ol - % AT TR0 -6 R GECIR I GRICIc)
HFFT T aUel HIC (G T IV & ol HTUR
7 |a9EE § - 10 °C 4.5 °C 8°C 12 °C
8 |fava Alew et derod & AEae RBua § - Setar e ariieTesT il
IfE Tl Wa &1 ey Sl AT 400 1.4, 3IX FaTT
Aoms gatar 8o wfaera § af Tehel STel AT &7 grafr
9 ? 300 mm 400 mm 500 mm 700 mm
CSSRI, hTaATel & [OeTS STof GaNeiul 3TAR AT
10 mﬁmﬂﬂﬁﬂmgﬁraﬁv:- 3ppm@W 3@'4ppm 4@5ppm 5@10ppm




TSI - ATl 3TETT %?r JTIROTAAT 919

11 WWWWMW% 0.7 1.7 2.7 3.7
Tfaa & 3R 9gea a0 Sl & & 3eqara @1

12 |FEd§ - Eciugccl STel Al 3MUR STl STl ga1g
Fie Tl BES T 0.6 IW/CPE 3T T 6 cm ITETS
ﬁ@ﬂéméﬁsﬁmqﬁwmw

13 |gd & - 10 mm 60 mm 600 mm 100 mm

14 |ueh g AR F dod ¢ - 100 m?* 9TeAT 1,000 m? 9TeAT 10,000 m? 9TAT 100,000 m3 9T=iY
afeest Har aroaT Tt A q Flerar FHar G91 JHTRRIT

15 |wel @ fow smes ¥ el HRFHT Y HGHT
AYF AT IRAT A TAoTel T A 6& e Lo

16 |#ar & - 26% - 28% 36% - 37% 40% - 42% 46% - 48%
ol & "3 TaeeT" F & H HA e arell i

17 |dcd § - Fioaas e BIEPRT GEEC

18 |geheel A "gIC A" & AU IR Oiveh axd & - |AlelssaAd GRS EED CIRGH
THS U " Ueh HHg Adiel” g T e 3T

19 |waE- ST IRH Freaait TR

EUEGERIEED EEEERIEIC] quT 578 TReidr 3T Te aeondT

20 [3REH v Wl TRUAAR & & H qoffpd § - |SRUdar TIIAAR TRIAAR TIIAAR
FFH F 0.75 kg TSToieT 9l goreaT &1 &T & 31

21 |gd 289 & foIT FIeRT 50 Seey oY &7 &AM - 0.5 Kg 3.0Kg 1.5Kg 0.75 Kg
fAFATThd @IAAART H HlTAT AIST Gl aTell Teh arof

22 |7 WUdER § ? TIAT HEHT FafE A Eass GIIRICIER SRS FHAT TS
TRATEART & TAA0T & " F13a AegRar' T A

23 |RR, & wae F 36 s FHFHT 1T Hr drelr gars |t 3T
aﬁwwmﬁmm%ﬁm
30 Frdea 3K 3oaRa s@vs 3 15 Bdca/d, & ar

24 Wﬁwm(%ﬁmﬁrg’nﬁ? 15 30 45 50
I Tk FeT TSGR A °efed 1.5 AN qH/GT
HeX 3R FT GeTcq 2.5 AT JH/AF FeX § @ 37

25  |Fer dr gfad Weuar a1 gefr 2 30% 0% 50% 60%
AT 1T TN HTHUTeT TEATT (IIFSR) (& Torel

6 |F R ¥ - ST S SIS M)
¥ed: §6T IeHTa & ORI o Iz Fiﬁ?ﬁ{"ﬁﬁ"’l’ ___________________________ S CUIT]

27 | P s fear s ¥ qul &1 Fahish YeRTT 3TANIT G&TcT ¥ T eTard EHFIT gaFH

28 |fohel e i amdeT gefd e T s - /A @ g/ R |smE/amE) R /A (¢ &)/ e |/ =

29 |oiYT T T SeaR drell AT hgalldl ¢ :- Tqeles 3aear SRIGEAT JoR HIEAT Ml HGEAT

FHT T TS TR -

FHITHA H el gT

TSI 3RS TIET F ﬁu%raﬂmaﬁ?r TOTEAT 3¢UIE - WIETRT (YT - S 380H
30 |@Faifha & @ 3afad S & g9 w - AT 34TH TAET H =T 3R G AT |GEeT F e
T hael & & Peral Bae aadr F o
31 |3 wgade & 2 FaR Harhell el EaESill
32 |Orde B 3 fRa Su A Es | 2 AT R SToflel AFger

33

HHT T hEH 3R 3H% 1000 &=l F dofel F Th
TET AT FT TAT I -

AT (H18498)-35¢

I (KAK -2)-380¢g

JISTAT (Udai) - 500 g

FHIThell (TAG -24)-250¢g

Tl hEell A Ul & A0 8 9fd §FeA 1000
sﬁam?ﬁa;%em%?rmasma?rﬁm?ﬁ

34 |amEr Y amaeTear @l 2 100 ml 500 ml 1000 ml 1500 ml

35 [9E & 31 Hewur g F¥CdH dTIH I § - 5-10 °C 10-15 °C 20-25 °C 30-35 °C
fFAThd Bl & T HlTd U Badl "fdeigal ol

36 |l Fgerdr § ? LIRIEIE) = qaAE e
3eST IUTET T dEdg & fAv il A FeRer @

37 3ier el o A AT AG e TR - 2% 3% 4% 5%
10Kg$mm$maﬁa—d'€r?rmaa
W&Uﬁ%m%m%mamm

38 [§ - 500 ml 1000 ml 1500 ml 2000 ml

39 [one WEd 30 wad 1 Udh Agedqol AN § - 3Te] Y Teheal el T FFHRT T

B HT ol SIS FT & Toid AR arferer

40  |3e@T F 3T fRar Sar § GG A LGEEIG] KiGkll
Ife TFEY B $T Uid gFedR °ier T&AT 50,000
gRETOT HR 200 ATH TAT il AT aIEdfdd FAT 100
gfaRrd & aF U IR &9 & fav dier &I 3maeds

41 |H\TET gl - 10 Kg 20 Kg 30 Kg 40 Kg

(AT Aol /ATE) X
42 |TITROT - IO (CV%) T 3 GF F IR R § - |(FATET/ATT faael=) X 100{100 ATF [QaOcl/med | Aea/AS Qg




43 |31 ST IRVT 819 & R BT & - 10,000 - 50,000 g AT 1000 - 10,000 §FCIX 100 - 1000 eI 10 - 100 gFSIX
4 B A IR F Nl FUHAEA _ F A Siar § - S wiewss TogAATA Biewss  |[Sie dothe TSI WiTthe
45 [TUT & 9 Sl & oEH 9y [Ud § - SRR T ahar EGIEIES
F AT BhT 39T & 181 § dleh Tdh TrANNH
46 |fGwe ¥ - qRFeufE dF araraReT R o
e RoT @ §A A F Md ®d A FHaeN HET G
47 mmﬁmmﬁm%;. g ATIHTT T ey RicicED
48 |gut ugrst & fra fgwm & weifow gk § - Ry 7 fGm f IR I & fGem & el gt 3] Pl TF R®
49 |ugrsl Y deledy @ Held gl & - [CEatG Jifaeiad o7 eRid ECERER
50 |qoT 3UaTied SATelH@l &1 ST Helld gl § - EGIEREIED FH ITAF TS IHPR
AR T AR & dcdd 39 &g 4 § o6l 4
51 |3edme - 3fhT gar & 3req gfafskar SURIGIER gfafshar gREH g &
52 oo qfF & v wafaa R [T - 595 FAT A HEdRT HAg 3998
T SIS/ HYOT { dcad § - HeT 379dTg Ahe STl 3T9aTg JAehedl S Foreg Aw | oG e
58 |~ S ' < A H gafer
Acdigs AT & A Agq &7 TF AT (>30 9N &
54  |STorarg aRade & 7Y ¢ - e Algw & oRada  [9Rad= gRadeT A &7 aRada
55 [ g3 ws w1 H@EY § - dIHAT H gere au & gef 37G&T9UT H gorel ot #H A
56 |dt # walARe 3Fd T HFH § - e g EEEIEERNCED FIRNFT eFaed 310
T[T AT SRS & GA9T TROTEETET el
57 g - e 3aRY Hele 3aRIY o9 37ERTET IS THeA IRy
TAT & 9id H
58 |diui dr aMeT geft X § IR § - qAT & 3% 39 AT & 9fd 399 e AT & 9fd g
59 |9y @ gedca °¥. dTshA R A @lar § - (0.0 2.0 4.0 8.0
60 |THIT HST A TIHT & RV g (°C) -10to -19 °C -45 to -75 °C -60 to -85 °C -80 to -95 °C

61

&Y, 9ier 40,000 & 50,000 FEFH TAH F YHTR FHI FTANT
A ot Fr &7HaT I@ & Sefh oY el fr erar g -

50,000-60,000

60,000-70,000

70,000-80,000

90,000-100,000

dTStT/ HYST el & ST ot & afear aiY

62 |afFafod § Fgend § - GG few e 3rar WEA | IeRers
63 |UTST & I@IYeT g 1 T HROT &Il & - BECCH HIEPRE qre R Hehl /Tt
HAARIAT AGUS & 3MUR W 919 oed 3 ol 3O Shae @ qU (4T Shae @k qU & oI 3T d¥g 39T
64 |yrepafeufa & - R . . 4. .7 AR AR, Y 3T A TR |FR §
) EEIGEEE ]
65 |Tada-siidr sseiseT AfheR® ¢ - NERICERI JSiledee JeIEIE Rera ISEIBREA gler
HT H BIEHRE &1 3Ucletidl 59 LU A § dgal
66  |elTch § - >8.0 >8.2 >8.4 >8.5
JEAT FEHl H 30 NOT AT & oA BIEhRA
67 |FER gl oferar & - 7.0 7.5 ) 3.5
AzTR HAeX 9
68 |HeT A N FHF SIRT AT T Fohell § - R AgER Hiex HRIcHS AT HRIcHA® AT glar
GEH N dcdl ol SUAT GaTal Flfedh gl & ofd
69 |SeTeRr geT fahar e _ ® - HEaRT @RI guffer e Her yAeT Je-9g A & A
70  |gewA R A &1 sawd e g # @&ifos § - |feR 39. RErRICH el
71 | ATl # ol dquiar dgalie wae § - |afEar SIRT bilkil a2l
72 |oaui Hers A 30 A g gurT o d@har § - |ATdees [ Enicanic qIEISe AT FAET ITH FAT
73 |G 9o & TRUAAR FI 3GTEI0T § - I RN R AN
74 |®HEA W TRATAR F Sl HY Shaed &THaT Bl § - 1095 100 a§ 1000 ¥ TN & P el
75  |FT F @ siaar gdieh @Radar Al 78§ - 3rerforeT LG EISIGES ERETI
et & @ Fierar el Hg H1 WITAAR AT
76 |FdETE - 2,4-31 2,437 & TH.EdT, 2,3,6 T
77 |3iEROr-ued TRUGER Al SIEd Biar § - A 39 A 9T TIGIR 39 d Y4 |[HHe 39 & IWed [ERITIR 397 & 3R
FET A TAEdeeeT gliel 1 el & [T 2,4, - D ANISAH
GOT T G et A A T Her H 6 el
78 |afgu - EGE gIAT sdT aFe Rhetl
s fAfad gag & e aw yomel & waifaw faf¥a wae ol
79  |wHc U & W ¥ ol S §hdl g - AT wEa gomer Rl ot U9 37 BRI |37 HHEROT
UF FN F AT §, @1 awl @ A oot H 4
80 Wﬁ?ﬁ%’:- 550 mm 650 mm 750 mm 850 mm
AT & ITT A GIET A TR TAN Terdt dhr
81 |&mm - el § e & R W & AT T §




qu & FHT A @
82 |wHdl GERT gW ¥ §OF & 3 § - gRued g Sl & STedT 397 § X H Il § 9T IWIwd Tl §
mﬁm#%(ﬁm)aﬁrmﬁﬁﬁw
83 |Q werer e P 3R QT ¥ - 12% 10% 20% 50%
84 |Har & I e | JIAYA § - Al H I gdad Hel H I 99 IHTHIA ToTaTTereT
85  |wamd (c-50) TFE B HT TREA & - A GG g3 (e R
86 |wd sl Fr gr F Fd wae gaifew Igwd § 2 U HeFhT A GG
FET 3T A ARAcT T G & Flerdn Ja¥T FreT
87 |F3amseT 3uged & ? Y3, RS et taoe 9RE A
agﬁﬁmawwmamwma:mﬁa
88 |& werT T Beied Tafad § - SR 3L IR IR Recele Tl
TF FNF ofd GO FNF W @B FAl § a0
89 |svrem zw R @ I § - FsT & kT Ll g d@eY WA AT
90 |9RT Fhasr XU 3981T & fG9ed ¢ - 20 30 50 60
IMELAR 3HTehelel & MR T TTEUTT & dIbR
SR F fhg T SeardT & & fFeia fear
91 |Imm§ - 1A IlA IC Ic
92 |Rag # Seur fFa &5 & AT ST § - .. ES FhH /AR,
FEEUS T Y (A YGU P HEAAeT bl Tamret
93 |& 3icia e omar & - U ERIGED ISF &aF FY SIRITher ATST VAT
TET B A IS [FSH & [T gaT l
94 |[dHATER afa § - <1km/h <2km/h <3km/h <4km/h
95 |ATceer il wHel T hed § - [CEEl EEGH Tl 336
[(FoaRda &d 7 [(3UaTRa @ &
TRATAR T Y TR 1 Y A -
[ (BUAER AFd S ([ (TRITIR HFd BHA (AT - WIAAR FFT @Tqaawmﬁr@?rﬁr
# 39T -3TAIRA @ | 39 - 3TN B |[@ #H TRUAAR M @TCIHEITTEH?TGFW)/
Fr wEA FHr 399T) / Fr wEA FHr 399 / sh AR / (3TATRA (@rqaawmﬁr@?r#
(ERIAIR HFT BHeT T (3T Ul T BeT zﬁaﬁmﬁ @TCIHTJITTEFFQTGFW)]
96 |@RYdaR gasis H I0ET H AT § - 394) | X 100 T 394T) ] X 100 e[Sk ATAN) ] X 100 X 100
HEST ARAT J=0s g@r av afvd & mar § s«
97 |gmr-eifed & ﬂaﬁ?aw_z* ___________ __|_7§.s_____________ov@ ________ ISorara 80%
98 |#eTsT A Qlcleh TWANT & HRUT o R O e R [arsRaer AT I Telolt
99 [l HarhT Ul YhR T § - TFelc HFHT ST FHeFhT qNSehTel A HeFhT
7T T Bh H [T JhR o oAFoled 3dThl T
100 |39AWET H FAET o AR - AT EGIEET) 3HSS AZAATSS
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14 3 64 1
15 3 65 4
16 2 66 4
17 3 67 3
18 4 68 4
19 2 69 2
20 3 70 3
21 2 71 2
22 4 72 1
23 2 73 3
24 4 74 3
25 2 eI

IRFCAN A R R
27 3 77 3
28 2 78 1
29 4 79 3
30 4 80 3
31 3 81 2
32 1 82 1
33 2 83 1
34 3 84 2
35 3 85 2
36 4 86 4
37 1 87 2
38 2 88 4
39 3 89 3
40 4 90 4
41 1 91 3
42 2 92 1
43 4 93 4
44 2 94 3
45 4 95 3
46 3 96 1
47 2 97 2
48 1 98 1
49 2 99 3
50 1 100 1

* MEANS DELETED



